



이름: _____

날짜: _____ 점수: _____

$$(4 - \frac{1}{3})^2 + \frac{3}{5} - \frac{1}{3} + 2^2 =$$

$$(\frac{1}{5} + (\frac{1}{2})^2) \times \frac{1}{2} + (\frac{3}{2} + \frac{2}{5})^2 =$$

$$(\frac{1}{4} + \frac{1}{4})^2 + \frac{1}{4}(\frac{1}{6} - (\frac{1}{3})^2) =$$

$$(3 + \frac{1}{3})^2 + \frac{1}{5} + 3^2 - \frac{1}{2} =$$

$$((\frac{1}{4})^2 - \frac{1}{6}) \times \frac{1}{3} - (\frac{1}{6} - \frac{3}{4})^2 =$$

$$((\frac{2}{3})^2 + \frac{3}{2}) \times \frac{1}{6} + (\frac{1}{4} + \frac{1}{4})^2 =$$

$$(2 + \frac{3}{5})^2 + \frac{1}{3} \times \frac{2}{5} - 2^2 =$$

$$(\frac{2}{5} + \frac{1}{4})^2 + \frac{1}{5}(\frac{1}{2} - (\frac{1}{4})^2) =$$

$$((\frac{1}{4})^2 - \frac{1}{5}) \times \frac{3}{4} - (\frac{1}{4} - \frac{1}{2})^2 =$$

$$(\frac{1}{2} - (\frac{1}{2})^2) \times \frac{3}{4} + (\frac{2}{5} - \frac{2}{3})^2 =$$



이름: _____

날짜: _____ 점수: _____

$$(4 - \frac{1}{3})^2 + \frac{3}{5} - \frac{1}{3} + 2^2 = \frac{797}{45} = 17\frac{32}{45}$$

$$(\frac{1}{5} + (\frac{1}{2})^2) \times \frac{1}{2} + (\frac{3}{2} + \frac{2}{5})^2 = \frac{767}{200} = 3\frac{167}{200}$$

$$(\frac{1}{4} + \frac{1}{4})^2 + \frac{1}{4}(\frac{1}{6} - (\frac{1}{3})^2) = \frac{19}{72}$$

$$(3 + \frac{1}{3})^2 + \frac{1}{5} + 3^2 - \frac{1}{2} = \frac{1783}{90} = 19\frac{73}{90}$$

$$((\frac{1}{4})^2 - \frac{1}{6}) \times \frac{1}{3} - (\frac{1}{6} - \frac{3}{4})^2 = (-\frac{3}{8})$$

$$((\frac{2}{3})^2 + \frac{3}{2}) \times \frac{1}{6} + (\frac{1}{4} + \frac{1}{4})^2 = \frac{31}{54}$$

$$(2 + \frac{3}{5})^2 + \frac{1}{3} \times \frac{2}{5} - 2^2 = \frac{217}{75} = 2\frac{67}{75}$$

$$(\frac{2}{5} + \frac{1}{4})^2 + \frac{1}{5}(\frac{1}{2} - (\frac{1}{4})^2) = \frac{51}{100}$$

$$((\frac{1}{4})^2 - \frac{1}{5}) \times \frac{3}{4} - (\frac{1}{4} - \frac{1}{2})^2 = (-\frac{53}{320})$$

$$(\frac{1}{2} - (\frac{1}{2})^2) \times \frac{3}{4} + (\frac{2}{5} - \frac{2}{3})^2 = \frac{931}{3600}$$